(@®*b*)3 + @b = a®b® 4 W, x +y O] F2?

@ 2 @ 3 ® 4 @5

B

21x\3 - V3 — ,673x
(@®b*)? + @b = a®b X =53

:aﬁ—yb3x—3
=a5b9
6-y=5 .y=1
3x-3=9 ..x=4
Lx+y=5




2. x?-2x-50] o]t A& Faol & AL BEste] WAL 342 —2x-7
o] Eloict. £ Aker A& Folu?

O -x*+2x-3 @ x*-2x-3 @—x2—2x—3

@ —-x24+2x+3 ® x24+2x+3

B ‘
ol® 42 Azt ot
x?-2x-5-A=3x2-2x-7
A=-2x242
x2-2x-5+4+(-2x* +2) = -x?-2x-3
—-x>-2x-3




o 5] F AR P 2 AT P A AS AR 4
AL
@ 4ax (=6b) © (=5x) x (-2y)?

© (-2ab)? x 4b

® o 0
ONONGE)

~&B

@ - 24ab
© -20xy*
© - 324%b"

® 3a°b°




4. a®xy*x(x%y)? = 9xy L o, ZA+A5= a, b, c Ol ot ab+c Q] 27

@ 10 @ 12 ® 13 @ 14 @21

a’xy? x (x2y)0 = a?x?Fy2h = 9xy06 0|82 g = 3, b = 4,
c=90°]|t}.
wEkA ab + ¢ = 21 0]t




5.

X—2y

2
3

X
X+y
2y

2y +y

s R

OF

®

[S20\)

TFoHAE? (H x#0, y £0)

@ ®

ot W
[SCRTN

2y-y




@D 5x—2y+4 @ 5x+3y-1 ® 5x—5y+4

@ Tx+3y+5 @7x—5y+4

A+ (-2x+3y—-1)=5x-2y+30|B&

A= (5x-2y+3)—(-2x+3y—-1)
=5x—2y+3+2x—3y+1
=Tx—-5y+4




<3

_Z'\__
A o, A+ B+ C 9 = fotofet.

>
> =g -3

~&B

A, B, C °f thoto] —(2x2 + 7x) + (x? +9x - 4)

=Ax2+Bx+C

—(2x% 4 7x) + (x* + 9x — 4)
=-2x-Tx+x>+9x-4
=-x>+2x-4

watd A=-1, B=2, C=-40]2&
A+B+C=(-1)+2+(-4)=-3

=, Ax? + Bx+ C = —x? + 2x — 4 °|t},




@(3 —3x—6x%) - 3(2x + 2x - 3)
@ <—§x2 +3x— 4) - (—5 - 6x — §x2>
® -2x%(1-x)

~&B

OX]

@ 8 + 4x% (°]AHA])

® 12 - 9x — 12x% (°]A}A])
@ 9x+ 1 (27H4)

® —2x% 4 2x° (AAHA)




e[ ool gk Ao

—[ax-2y—{x- (3x+[__])} +5y] =-6x-7y

- [4x—2y— {x— <3x+|:|)} —l—5y]

~{ax-2y- (x-3x-[__]) + 5y}
—{ax-2y- (-2x-[_]) +5y}
~(4x-2y+2x+[_J+75)
~(6x+3y+[_])
—6x—3y—[ |

—6x— Ty

|:|:—6x—3y+6x+7y=4y




10. A=*2% B:x‘;’y A 24— {B-2(A-B)} & x yol B

Ao by

® 3x-Ty @ 3x-y ® 2x -4y

@ x -3y @x—y
B ~

2A - {B—2(A-B)} = 2A — (-2A + 3B) = 4A - 3B
A, B o 32 st
UA-3B—4x "2 3y x33y

=2x—4dy—x+3y=x-y




11, [ |obell ol /b 7as 42 Fsfefer.

x+4y-{2x-(By-o0+y) +y} =5x— (3x+2y)

=
| —

>
> HeD -3x+9y

S5
x+4y={ox - (3y-[_J+y) +»}
=x+dy-(20-3y+[__|-y+))
=x+4y-(2x-3y+[__])
= —x+7-[ ]
~x+Ty-[_ |=5x-3x-2y=2x-2y
2 ]=—x+Ty-2x+2y=-3x+9y




12.

3x — [7x— {6x—2y— (|:|+2y) —4x}] =—-4y+x
3x—7x+6x—2y—|:|—2y—4x:—4y+x
—2x—4y—|:|=—4y~|—x

|:| = -3x




13. 2-1)@2+1)(22+1)(2* +1)= e 5FH?

® 63 @ 65 ® 127 @ 129 ®)255

(22-1)(22+1)(2*+1) = (2* - 1)(2* + 1)
=28-1
=256 -1 =255




14. 3x-2 {x+2y— (y—3x—:)} =-Tx-6y 4 “H,:?l'oﬂ

o o)
o2 427

O -2x-y @ -2x+y ® x+y
@x—l—Qy ® 3x+ 3y

B
sx—2{x+2y-(y-3x-__ )}

:3x—2(x+2y—y+3x+\:|)
:3x—2x—4y+2y—6x—2\:|
= 5x-2y-o |

= —Tx — 6y

s J=xt2y




@ 6a 3)8a @ -8a ® 4a

® -6a




16. (2x-5y—1) + (3x -3y +2) S tHs| 5tH?

@D 2x-3y+2 @ 2x+5y-1 ® 5x—6y+4

(@)5x—8y+1 ® 5x-5y+3

(2x-5y—-1)+ (3x—-3y+2)
=2x—-90y—1+3x-3y+2
=5x—-8y+1




D)4x?
Ox +4x+1 @ 4x2 —4x+1

@ 2x2-4
x+1
® 4x2+2x+1

® 2x2 +4x+1

2% 2 __
(2x+1)% = (2x)? +2x2xx 1 + 12
=4x®> +4x+1




18. (-4x-5)? & Z/HsHH?

D -8x%2-20x-25
® 1642 + 20x + 25

® 20x2 4+ 10x+5

@ —-8x%2-40x-25
@)1652 + 40x + 25

(=4x)% + 2 x (—4x) X

(=5) + (-5)2 = 1622 + 40x + 25




D (a-b)*=(a+b) @ (a-b)*=(-b-a)

—(a+b)2 — (—a+b)2

(a-b)? = a® - 2ab + b?

(=b - a)? = a® + 2ab + b*

(a+b)? = a®+ 2ab + b?

(=b - a)?® = b? + 2ab + a*

@ —(a+b)? = —(a®+ 2ab + b?)
= —a? - 2ab - b*

(-a+b)? = a® — 2ab + b*

® (b-a)?=b?-2ab+ a*
(-a+b)? = a® — 2ab + b*







